
108020
 Dining Table

PAGE 1 OF 5 COASTERFURNITURE.COM

Fine Furniture for every stage of life

REVISION 0 : 11/25/2017 

REVISION 1 : 06/17/2019

REVISION 2 : 08/02/2022



MOUNTING  PLATE

BOTTOM  FRAME

FLAT WASHER     17 *    8.3

LOCK WASHER     17 *    13

WASHER     5/16 *15MM

BOLT    5/16" *15MMØ

BOLT M8" *30MM

1PC

4PCS

3PCS

1PC

ALLEN WRENCH M5

ALLEN WRENCH M6

108020

PAGE 2 OF  5

Z

1PCTOP

POST

ALLEN WRENCH M10

BOLT M12" *80MM

7PCS

HARDWARE PACK

1PC
1PC

1PC

1PC

1PC

1PC

1PC

Ø Ø

Ø

Ø Ø

15



108020

PAGE 3 OF  5



108020

PAGE 4 OF  5

4



PAGE 5 OF  5

108020

Note :Dimension tolerance ±5%


	108020
	01.pdf
	02.pdf
	03.pdf
	04.pdf
	05.pdf
	06.pdf

	190421-简图
	190421
	01.pdf
	02.pdf
	03.pdf
	04.pdf
	05.pdf
	06.pdf

	圆桌




